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BLA, (Paret-11) BEXAMINATION, 2019
' (L0 Pattarn)
(IMpenlty of Commures)

BACHELOR O BUSINESS ADMINISTRATION - IV

101661

[Buninons Finnnes)

Muximum Marks : 100

Tine Allowed : 'Throo Hourn

Attempt any five questions (0 all selecting one queation from cacl unit,
gl std ) v g 8 g igier ula e vor i) 1
No supplementary answer-boole will be given lo wny candidate, Hence the candidates shouwld write theur answer

precisely in the main anawer-hool only.
fosed) il wasirndl ) et i ylicnn ] ) oAl ot ool @) e far @ i T gl i & o 7 & I

fered's
All the parts of one quention shoula be unswered al one place in the answer-hook. One-complete question should

not be answered at different places in the unswer-book, :

faref) of) war wo A sk ye a?) fal s gl A g, S- YT 7Y STETT- ST T TT B @ & Aoy U B R 9

Bl AR
Write your roll number on question paper before start wriling answers of questions.

el & g ferea) @ el 5o v g T TR ara T :

UNIT - 1/%ehTE ~

4_) 1. / Whatis finance ? Discuss the relationship of finance with other disciplines. 8+12
o 7 v el % e fera 3 el 2 e R

OR / 31gar
8+12

What is stock exchange ? Discuss its functions,

A e a1 27 g el W) fedm i)

UNIT - 11 / 3ehTS - 11

9. Whatis meant by financial management ? What are the salient features of financial management ? 8+12

ferdra v @ an aforara &7 ferdy e ot e e wd |

OR / d1ee
Discuss the functiona) areas of financial management. : ‘ 20
et e 3 el @l ) ferd e I |
204 e . : ] » ) PQTQO-
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O/ 3reaEr
Phe capiial stvneture of Vandonn Lad, 1o s ander 20
WRH (§da w) \I\\n TR ELE: R
(T)
SO00 0% et Debenture 2,00,000
L0 7% Hc‘mlnd Dobenture 1,00,000
0000 8% Peeference Shave 2,00,000
4,000 tquity Shave 4,00,000
Retained amings 1,00,000
The earnings per share of the company in the past years has been T 15. The share of the company
are sold in the market at book value, The company’s tax rate is 50% and sharehdlders personal tax
liability is 10%. Find out the weighted average cost of capital.
T a1 W o791 9T T 157 e B e 3 7 T e WA T E | P B ST
1 50% € T Syl F et ST ST TR AR SIfaRE 10% R 1 HRITRd g Gt 1 AT I FIC 5
UNIT - IV / gTE - IV
4. , Explain the concept of working capital. What are the determinants of working capital of a
company ? 10+10
FRieiter et ) STAYRTN & TR I Wwﬁﬁm‘eﬁa%ﬁaﬁmﬁuﬁﬁmaﬁmm%?
OR / 34T
Annual demand for a particular item of inventory is 10,000 units. Inventory carring cost per umt 20
per year is 20% and ordering cost is T 40 per order. The price quoted by the supplier is ¥ 4 per unit.
However, the supplier is willing to give discount of 5% for order of ¥ 1,600 or more. Is it worth wise
to avail of the discount offer 7 ,
e o e FaE G Y e T 10,000 TR € T ) T i T o T 20% ¥ A9 S
3 = @ i e ?40%’|{ﬁfwﬁmmiﬁ%wﬁrm%mmnwomﬁw%m )
¥ foru 5% 91 27 N TIE B | wa@maﬁ@ﬁmﬂ_@ﬂgﬁg_w - '
UNIT -V /318 - V
5. . Write short notes on the following :
forer o il Teouforal ferfae
()  Sources and uses of fund 10
19 3 e T I
(ii) Operating and T'inancial Leverages 14
yfiEred @ faxiy SHerh
OR / 3rgan
204 2
—
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T i - .
he following figures are available with respect to a particular company : 4+8+4+4

O el wrafeug frefafad o ooy § -

Year 2016 2017
Sales %2,52,000 % 3,57,000
Cost ¥ 2,68,000 % 3,38,000

Calculate : (i) P/V ratio; (ii) Break-even point; (iii) Profit or Loss when sales are ¥ 2,70,000 and
(iv) The amount of sales required to earn a profit of X 50,000

TR FIRTY ¢ (i) =TT ST, (i) AR g (i) ¥ 2,70,000 1 foRl S T A W e
(iv) ¥ 50,000 =T TNY FHAM v forsha &t TRTI

~00o0-
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pACHELOR OF BUSINESS ADMI JISTRATION -1

e - ro S P R
173 YOG SR - 3%} e
JIZZ SR el ZT LT

Maximum Marks : 100

-

Time Allowed : Thres Hourz
Abtermpt (ry [ose Guastitns in cll selacting are GLEILGT
qei R R s T AT A TR TR A

No supplementary s, e-bosk s (i be given to any Carainsts.

precigely on the moun AREEr B0k G,

2t fy ) T e A A s T 5 i o F e e g 4 € WA R % 50
ford 1
AL the prarts of tne quastion should be ansi ered ot one place in the answer-book. One complete question should

not be answered at different places in the anaser-bosi
Fref) ot s 5ot % =y g5 i fafer 77 F T, T g § - e S 9 e %77 % 9979 & & ©H T

Bl H1
Write your roll number on question paper befare stort w riting answers of queations.

i % 2ers fored 41 A qa-wq e e et a3 ford |
UNIT - 1 1 3%T5 -
I, What is Organizational Behaviour 7 Ezplain the challenges and opportunities of Organizational
ihaviour. 6+7+17
i, wpap o 87 AR e S ad el F T i |
OR / Heat
What s arganization theory 7 Fxplain the classical view of organization theory. 5+15

dfageget gt A 7 ajre T % e gfesm B P Fid |

UNIT - 11/ 3&T8 - 11

2, Define Pereeption. Discuss nature and importance of Perception. 4+8+48
steaedisg i) ufonfug WER stEEiy F1 WA 99 TeE H1 fagw St |

OR / et

Define Parsonality. Describe the determinants of Personality.

wfigsrens ) yinfi il | oaferea & it @il @1 aui it

a+106

i | | : P.1.0
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B.B.A. (Part-11I) EXAMINATION, 2019
(10+2+3 Pattern)
(I"aculty of Commerce) l 0 0 9 6 8
BACHELOR OI' BUSINESS ADMINISTRATION - II

[Indian Management Thought and Business Leaders]

Time Allowed ; Three Howrs Maximum Marks : 100

Attempt any five question in all selecting one question from each unit..
TR §F7% 7 @ UF W97 X0 §T S U T &6 A

No supplementary answer-book will be given to any candidate. Hence the candidates should write the answer
precisely in the main answer-book only.

Tt s Wit F [ Fa- mva?e?aﬁv?/am qﬁ&nﬁfa?a#m%qﬁrég@am—gﬁmﬂwﬁmm%m
e

All the parts of one question shot. . v. R cwered at one place in the answer-book. Wi .umplete question should

not be answered at different places in the answer-book.

T W@W%W@Wﬁﬁﬁ?ﬁ%ﬁ m—gﬁaw#m—wwﬁwavm%mwa?ww
T H/

Write your roll number on question paper before start uﬁiting aﬂéﬁ)er‘s bf 'questjions}
wﬁ%m%@#@ﬁmwwﬁawm%@/.

: UNIT - Ilsamé T

1. Discuss the Relevance and Importance of Indian Ethos in Management.‘ o 20

mﬁ@wﬁmwwﬁﬁéﬂﬁml

OR / 3T9laT
o Explain the concept of Yoga. Discuss the uses of Yogain Management. - 6+14

I T SR Y TR T | A o ST i e i

UNIT -11 /3eTS - 11

2. Discussthe cdptributioh of Ramayana to the field of Management. < ! 20
e % 8 8 T % e 9 ferdeen
OR / 7o/
Explain the principles and concepté of Vedic Manag‘em.ent. by

Aficer e S Tl T aETaT ) e

L ¥1%2) 'l » I . “,‘Tﬂ \‘
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UNIT - 111/ gehTE - 111

Evaluate the ideas and contribution made by Prof. S.K. Chakraborty.

9. @.%.W%%%ﬁ@ﬁ?mmwﬁm|

OR / et
Evaluate CK. Prahalad’s contri\bution'to Management.

m%a}aﬁxﬁ.%.m%ﬁ?mmmmﬁﬁQI

UNIT -1V /3t - Iv
Describe the Managerial contribution by J R.D. T

a.am.@.m%Wﬂﬁaﬁﬁmmwmu

ata.

OR / 3rerar
Discuss the Managerial contribution by Dhirubhai Ambani,

%wﬁmﬁ%w&ﬁaﬁmﬁﬁéwﬁml

UNIT-V/g&TE -v
Discuss the contribution of Narayana Murthy in business world,
Wﬁmwﬁﬁw&ﬁf%umﬁﬁéammu

OR / 3t

Discuss the ideologies of Bharti Enterprises.

wmﬁﬁwwﬁaﬁﬁéﬂmﬁm|
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B.B.A, (Part-111) EXAMINATION, 2019
(104243 Pattern)

o 100797
(l"m:ulty of Cummcrcu)
BACHELOR OF BUSINIESS ADMINISTRATION - 11

iInternational Business]
Time Allowed : Three Hours

y candidate. Hence the candidates should write their answers
recisely in the main answer-book only. i

fargt Wvﬁmﬁ#wm—gﬁﬁm?ﬁﬁwmm: WWM’#W%&WW—W#@WW%W
ferds _ . b

+

n.. be answered at diffei'ent Places iﬂ the Qiswsr ook,
et ! T F¥7 % orfa 79 Wﬁfwwﬁ%mw—mﬁwémwﬁwmwﬁ%mwémw
8T HY )

Write your roll num ber on question paper béfore start writin,

g answers of ques;ibns.
m%aﬁr%@##za‘w?wwﬁﬁwmz%@ ‘

L. . What do you mean by Inter:ational Business ? What

are the main characieristics of International
Business ? r

¥

A orawra ¥ oy w1 gEry ¥ 7 SRS S 1 oy ferdiemd e |
OR / 3reqr

What is the scope of International Business ? Ex

International Business,

dertietin o = iy g 7 SIRTSETY ey =it v et o s e |

plain the basic problems and challenges of

4. What do you mean by Political Environment ? Explain the major types of political system.
warfire e & o e wa ¥ 7 e d Y WHER TR |
OR / areran
Yarpluin the important husiness ispues of Logal Bnvironment.

Tettes; egetiegion & vigemryof ey R wgmed |

; P.T.0.
KK} ' :
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3. What do you mean by different forms of Business Org

- anisational Structure ? Explain the Gloh:
Matrix Structure in detail, ! e

ST HTaTeeh Ho1 & fafirr ) 4 SN 11 W11 ¥ 2 Sfierer Bz e ferseya &9 4 wugm

OR / 3tgar

What are the main functions ol World Trade
system.

forvar samam Wet & Wy o ey 0 AR guIelt % g fagial 1 qui 5 |

Organisation ? Elaborate the basic principles of trading

4, What do you mean by International Financial Management ? Explain the main objectives of
international finance,

@ﬁ@aﬁﬁuﬁa@mwmﬁ%? ST ford & e wivy gugmEd |

OR / ar
What is International Monetary Fund (IMF) ? Explain the functions of IMF.

HEa gy T 2 ST 01 9 % W@ 1 e |

J
5. What are the main documents used in export transactions ? Explain.
mﬁ@néﬁ—éﬁﬁﬁq—ﬁq@wﬁﬁwm%mm% ? R |
OR / 3r¥ar
What do you mean by Global Operations of Business ? Explain the main activities involved in
Global Supply Chain Management.
TG % AfYTH oo @ ST 1 g § 2 Sfvew sy el yeuA ¥ Wit qer st qegsd |
-00o0-
2
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B.B.A. (Part-11I) EXAMINATION, 2019
(10+2+3 Pattern) . 33" —4
(Faculty of Commerce) LUUL &

BACHELOR OF BUSINESS ADMINISTRATION - IV

[Cost and Management Acco unting]
Maximum Marks : 100

Time Allowed ;: Three Hours

Attempt any five questions i all selecting one question from each unit.

TG 5aE ﬁ#@mmgwﬁmzﬁm?/
No supplementary answer-boak will be given to any candidate. Hence th

&7 Ty fo & g Jav-grawl & & g5 7v & 397

e candidates should write therr answer

precisely in the main answer-book only.
e o el ) g SoT- Gt 78] & S | 37 yaenfelar

ford |
All the parts of one question should be answered at one place in the answer-book. One complete question should

not be answered at different places in the answer-baok.
ﬁ#w&wm%mgﬁﬁﬁfwyﬁ%m, IRy § 3FerT-3erT T T 87 BT & aT UF & HI7
goT @)

Write your roll number on question paper before start writing answers of questions.

77 % 3% for@ § ﬁmwwﬁﬁmmﬁaﬁl

UNIT -1 /315 -1

1. /Whatis meant by Cost Accounting ? Give the objects and advantages of Cost Accounting. 5+10+5
T ST § ST A G § 7 A i & 9eed T o SaRg
OR / 39ar
(a) Inafactory components X and Y are used weekly as follows: L
@Wﬁxﬁm&*maﬁmmmﬁﬂwﬁﬁmaﬁm%:
Maximum usages 450 units
sifeRan I9AM
Minimurn usages 150 units
Re-order quantity X-2400 units
T AR T Y-3600 units
1 P.T.O.

304
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Re-order periad

T RN 3ty

X - 4to 6 weeks

Y -2to 4 weeks
Calculate for each component :

TAF TR 1 | for o i -
@ Re-order Level
T 3 'R
(1) Maximum Stock Level
AfreRan =i
(1))  Minimum Stock Level
A0 ik '

Calculate the number of workers replaced from the following information :

8
Fretataa gemet & wfienfo s = T T i :
Labour Turnover Rate (based on separations) 4%
Labour Turnover Rate (based on flux) 8%
Number of Labour left and discharged 24
UNIT - 11 /g - 11
The distribution summary of overheads of a factory’s different departinents is as follows 20

T FREH o fafir faarit | wwfaa sefer @ e e

Production Departments Service Department

A T 18,000 ¢ T 12,000
B T 21,000 Y % 15,000
C 3 15.000

Overheads of service department are to be apportioned on interservice departmental basis on the basis

of percentages given in chart-below. Find out the total overheads chargeable to the production
departments.

Ha1 favmi & sufte frefataa = 3 6 v wieed & SR W srader fasmira s o atyanfsa i
S 1 e faart & e R o A g suRerd w1 a i |

Department Production Department Service Department
A B C X 4
X 30% 40% 20% - 10%
i 10% 20% 50% 20% -
OR / AgaT
2
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From the ving particulars preyar S
¢ following particulars prepare a cost sheet of brick works indie

bndlss ating cost and profi( per 1000 95
frfefea oot @ €2 & > ey
< 7 IR 1000 42 3 e = 1019 e g e ferermn-ry e

Wages (clay getling, drying, loading etc.) ¥ 75,000
Coal : 5,000 tounes @ X 7.50 per Topne
Royalties @ R 0.75 per 1000 bricks
Depreciation of Plant and Machinery at 109 of Capital outlay of ¥ 1,50,000.
Removal of over-burden at 50 paise pey 1000 bricks.
Works overhead at 10% of wages & Coal.
Office overhead at 5% 6fWages and Coal.
Bricks made 101,52,284 (allow for waste 1.5% of output).
Bricks sold : 80,00,000 at ¥ 20 per 1000 bricks.
Stock of Bricks (opening) 20,00,000.
Stock of Bricks (closing) 40,00,000.

UNIT - 11/ 3RS - 111

“Management Accounting is Accounting for effe

the limitations of Management Accounting.
VWA TR Wil WA R T i §1' s e e R qen wee S g
E| al'a"}l |

ctive Management”. Explain this statement and discuss
10+10

OR / 3gar

X Ltd. of Mumbai has been offered a choice o buy a machine between M1 and M2. You are requiredto 20
compute :
g ot Ued fafiee & e wr aun w2 € wiel T T a6 T ol S o T § 1 sl et
T A I Hel TR
6) Break-even point of each machine

ereR T o fore u-famag famg
(i)  Level of output at which both the machines are equally expensive and profitable

I a1 AE wR Forg T A Tl FHE Sl qe WA e e
(i) Range of output and sales at which one is more profitable than the other.

et 9 Farr o v Fereerr Frer e e gt i @ aiferen e @

Particulars Machine M1 Machine M2
No. of units 1,00,000 1,00,000
Total Fixed Cost T 4,00,000 ¥ 6,40,000
Budgeted Profit T 4,00,000 T 5,60,000
Selling Price Per unit is T 20
} P.T1.0.
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UNIT' IV /grag 1y

In a brass toundry, the standaed wix connintn of 60% of Copper and A0% of Zagie. 508 stsrid it Ve oF
production is 30%. Standard Mix and Yiold were e
e WETSUE) B I TSI GO S eI A% STl | et 6 e g gy, % ey s G 5 T
THUER Al ;

Copper 60 kg @ ¥ 5 per kg

Zinc 40 kg @ I 10 per kg

Standard yield (YH9 IEA) 70 kgs -
The actual Mix and Yield were :
SrEdideh THYO UE Scurer FEfatEd Yenr o

Copper 80 kg @ T 4.50 per kg

Zinc 70 kg @ T 8.00 per kg

Actual yield (arfaeh Ia©A) 115 kgs
Calculate Material Variances. |
Tt fo=on et o St |

OR / 3reraT
The monthly budgets for manufacturing overhead of a concern for two levels of activity were as follows:

T ITHH 6 Q) FRIie W) R Frafolt sufterl @ mited st e wee o

Capacity ' 60% 100%
Budget production (units) 600 1000
3 3
Wages 1,200 2,000
Consumble Stores 900 1,500
Maintenance 1,100 1,500
Power and Fuel 1,600 2,000
Depreciation 4,000 4,000
Insurance 1,000 1,000

You are required :
iy  Indicate which of items are fixed, variable and semi-variable.

S A o A T8 warhl, oRedier s sg-TRadade ¥ 2 -
iy Prepare s budget for 60%, 80% and 100% capacity.

GO% 0% 441 100% AT T Ers AR g
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UNIT .V /3T -V

6414

.\ SARRNARN W by vy Ey A ~ i ~ #

AR APEN) A nacnarng two I““\hh‘l:: furmches the |”l|.m:|ng dataforn year:
W T © o w1 Piglu e @ - - S f & 3
& R SRR G S X Featsibiag offad uw ard W fer wega g @

‘:“‘\\\‘:‘\‘.Cﬁ Annual 1\‘\:’41 \\‘:h“\\l\w? Total number Total number of
autput houes of purchase aotup
S S T ST Y e 3 k] £
S ERUEIER I S - AT T
IRH el Han 3]
A SN 20,000 160 20
B 0.0 120,000 384 44

83,000 1.40.000 544 G4

'y, WATRER, R, -
The annual overhead are asunder :

Volume related activity costs < 5,50,000
< 8,20,000

3 6,18,000
19,388,000

Setup related costs

Purchases related costs

re required to calculate cost per unit of each product based on (a) Traditional method

u
5} Actvity based costing method.

o T T = T S A T A & (@) wem faft 3 s w (3 R e gReE

o
=T Fan 91l

OR / 3l

What iz Responsibility Accounting ? Explain its importance.
S St T T WA E 7 T Hed SHgEA |

S LATE e

-000-

L

(=1}

304
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B.B.A.(Part-111) EXAMINATION, 2019
QO+249 Pattern

(Faculty of Commeree) 1 0 O 8 6 4
BACHELOR OF BUSINESS ADMINISTRATION - \Y

[E-Commerce]

Time Allowed : Three Hours Maximum Marlks - 100

Aftempt any five questions in all selecting one question from each unit.
~ r - el .
TEF FFE 8 @ UF U7 0 §U FoT U9 997 &1 F &)
No supplementary answer-book will be given to any candidate. Hence the candidates should write thewr amswer
precisely in the main answer-book only.

f&dr ST WisTe #) W& SwR-JIas7 787 & st ) a7 vﬁarfa“a?#an%qﬁ?ég@m~m:wwyﬁaw

el

All the parts of one question. should be answered ai one place in the answer-book. One complete question should
not be answered at different places in the answer-book.

IS5l 0 (@ 577 & S Y T [T el % SR Stre-gianT 3 STer-S1e R W e I & 79g 05
g7 FH/

Write your roll number on question paper before start writing answers of questions.
T¥ & I forad @ 9 37 - TF W AeT TR v [E )

]

Y

T =T 5

A

UNIT -1/3am8 -1

1. What are the various driving forces behind the fact that business are fast switching from traditional ~ 20
commerce to E-Commerce ?

MR IRUfes ARy | $-ind 3 1 40 95a W e, 3999 ¥ 1 faiv= ke v w2
OR / AYeT
2. Write short notes on the following : 10+10
Frefafed w e fewfomr fod ' :
(a) Mobile Commerce
(b) E-Commerce Models

3-FHd Aised
UNIT - 11 /3&T8 - I

3. What are the business uses of Intranet and Internet ? 20

T2 3R $STAT & I Geh S T & ?

OR / 31¥qat

4. Write short notes on the fol}owing : 10+10

frefafas ) i feufomaf ford

(a) Protocols

T .
(b) Multimedia application
(r 1
1 P.T.O.

one
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10.

UNIT - 111 / 3&T8 - I11

Define E-stock trading and its important features.
d-wefe e i ofonfid o Tt eeaqut faraed i e
OR / I

Describe the different methods of E-Payment gystem and security issues of E-Payment system.

-y wome 6 fafve et aﬁ(é—ww@ﬁgmﬁg@?ﬂaﬂhﬁl

UNIT -1V / 5T - IV

Write brief steps required for management of business websites.

wamﬁﬁéamsﬁémﬁm#mwwﬁwwﬁﬁ%@l
OR / gl
@ Differentiate between data warehousing and data minng.
o7 SarcererET &t T wEfi % = ST Hiferd |
(i) Wnrite a note on client server computing.

eee TR o W O e fd |

UNIT -V /3% -V

What do you mean by ERP 2 Discuss the functions of ERP for new development and upgrading

existing system.

20

20

20

10+10

20

$ o @ T ) STE ¥ 7 T T ﬁtﬁwm%ﬁm%mﬁmﬁ%wﬁm—ﬁfﬁn

OR. / AYdl

Write short note on following :
Freferaa o wie feofia ford -
(i)  E-Governance

$-TEHE
(ii) Business intelligences

SIes i

-00o0-
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